" High Pass Filter

In[26] =
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In[29] =

Ouitj29)=

R/(R-I / (wC)) // Simplify
CRw
-1+CRw

Hlw_] = w/ (w - I) (% setting w3dB=1 for plotting =*)
w

-i+w

Plot[Abs[H[w]], {w, 0, 10}, PlotRange - All]
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LogLogPlot[Abs[H[w]], {w, .01, 1000}, PlotRange - All]
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o= Plot[Arg[H[w]], {w, 0, 10}, PlotRange » All]
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gLinearPlot[Arg[H[w]], {w, 0.01, 1000}, PlotRange —» All]
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B | ow Pass Filter

ma= (-I / (wC))/ (R-I / (wC)) // Simplify
_ i
1-CRw

Oout[33}=

nzap= H[w_] = I/ (I - w) (% setting w3dB=1 for plotting =*)
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Ou34l=
1-w

m3sp= Plot[Abs[H[w]], {w, 0, 10}, PlotRange -» All]
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ini36)= LogLogPlot[Abs[H[w]], {w, .01, 1000}, PlotRange - All]
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2 | low pass filter.nb

in371= Plot[Arg[H[w]], {w, 0, 10}, PlotRange -» All]
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m3s1= LogLinearPlot[Arg[H[w]], {w, 0.01, 1000}, PlotRange —» All]
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® Band Pass Filter

n= 2C = -I/ (wC);
2L = ITwli;
Ztot[w_] =R + (1/2zC+1/2L)*-1;
z2[w_] = (1/2zc+1/2L)~-1;
H[w_] = 22[w] /Ztot[w] // Simplify
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outfs=
R+1Lw-CLRwW?

mgi= 1/8qre[LC] /. {C- 10%*-9, L - 10%~-3}

ousi: 100000

ny;= Plot[Abs[ H[w] /. {R- 100%*3, C>» 10%*-9, L - 10x%*-3}],
{w, 0, 150000}, PlotRange -» All]
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ing]= LogLogPlot[Abs[ H[w] /. {R- 100x*3, C-> 10%*-9, L-» 10%~-3}],

{w, 30000, 350000}, PlotRange - All]
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2 | band pass filter.nb

ing= Plot[Arg[ H[w] /. {R- 100%*3, C-» 10%"*-9, L -» 10x*-3}],
{w, 0, 150000}, PlotRange -» All]
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imw}= LogLinearPlot[Arg[ H[w] /. {R-» 100%*3, C-» 10%*-9, L - 10%"*-3}],
{w, 95000, 105000}, PlotRange -» All]
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